10% 1. Find the limit, if it exists, or show that the [imit does not exist.
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10% 2. Find the slope of the tangent line to the parabola y = x* + 2x at the point (-3,3).

10% 3. Ihi ng—1+hh_1 represents the derivative of some function f at some number a. State f and a.
20% 4. Find the derivative of the functions.
(@ f(x)= (Bx—2)"(Bx*-x+1* (b) f(X)=sinx+cosx
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(e f(x)=(nx)*
20% 5. Find the general indefinite integral
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10% 6. Evaluate the definite integral  (2) [ 1rcos 04y (b) [10'ck
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10% 7. Evaluate J' j e dxdy (hint: reverse the order of integration)
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10% 8. Determine whether the seriesis convergent or divergent.
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